
In vigore dal - Effective from    15-12-202122

PEDALIERA MINI KID
MINI KID PEDALS

B

C

D
J

Q
D

K

L

N
E

FG

OS
SO

P R

R P V

V

V

V
I

I

H
M

M

T

T

U

U

A

B

Tav. 10



OTK KART JAPAN PRICE LIST
2025/2/1~

10 コード 商品名 Description 税抜 税込

A 0010.F0KIT Complete rudder pedals for Mini Kid

B 0010.F01 Footrest for Mini Kid Footrest for Mini Kid ¥5,800 ¥6,380

C 0010.F1 Rudder pedals support Rudder pedals support ¥4,100 ¥4,510

D 0010.F2 Pedal spacer for Mini Kid Pedal spacer for Mini Kid ¥940 ¥1,034

E 0014.F01 Accelerator Pedal Accelerator Pedal ¥14,300 ¥15,730

F 0015.F01 Brake pedal Brake pedal ¥14,000 ¥15,400

G 0016.FA Accelerator Pedal spring Accelerator Pedal spring ¥2,400 ¥2,640

H 0016.FB Brake pedal spring Brake pedal spring ¥2,400 ¥2,640

I 0017.F0 Rudder pedal screw Rudder pedal screw ¥2,900 ¥3,190

J 0116.E8 Adjuster's peg brake caliper Micro - Mini Kid Adjuster's peg brake caliper Micro - Mini Kid ¥1,900 ¥2,090

K 0209.F0 Accelerator cable sleeve Accelerator cable sleeve ¥570 ¥627

L 0213.00 ｱｸｻﾙﾜｲﾔｰｱｼﾞｬｽﾀｰ Adjuster ¥490 ¥539

M D.M5 ﾅｯﾄ M5 Nut M5 ¥10 ¥11

N D.M6A.B. ｾﾙﾌﾛｯｸﾅｯﾄM6 (ﾅｲﾛﾝ) A.B. nut M6 ¥20 ¥22

O D.M8 ﾀｲﾛｯﾄﾞﾎﾞｰﾙｼﾞｮｲﾝﾄﾅｯﾄ/R Nut M8 ¥20 ¥22

P D.M8A.A. ﾛｯｸﾅｯﾄM8（ﾅｲﾛﾝ)厚 A.A. nut M8 ¥30 ¥33

Q R.P.6X12 ﾜｯｼｬｰ D.6x12 Washer Ø 6,3x12,5x1 mm ¥20 ¥22

R R.P.8X17 ﾜｯｼｬｰ D.8x17 Washer Ø 8x17x1 mm ¥20 ¥22

S R.P.8X24 ﾜｯｼｬｰ D.8x24(ﾘｱｽﾎﾟｲﾗｰM10⽤) Washer Ø 8x24x2 mm ¥30 ¥33

T V.TB5X12 ﾎﾞﾀﾝｽｸﾘｭｰ 5x12 TB screw 5x12 mm ¥60 ¥66

U V.TCE8X90 ｷｬｯﾌﾟﾎﾞﾙﾄ 8x90 TCEI screw 8x90 mm ¥170 ¥187

V 0116.B8 ｻｰｸﾙｽﾌﾟﾘﾝｸﾞｷｬﾘﾊﾟｰﾋﾟﾝ Circle spring ¥380 ¥418

MINI KID PEDAL




